CHEMISTRY OF WATER – Film Quiz

1. (True/False) Water combines with carbon dioxide to form glucose for plants.

2. Water is called the ‘universal __________’.

3. (True/False) 80% of water use is for agriculture.

4. (True/False) 97% of the earth’s water is salt water.

5. ___ What per cent of the earth’s surface is covered by water? 

(a) 20% (b) 50% (c) 70% (d) 97%

6. ___ Water is a ________ molecule.

(a) ionic  (b) polar  (c) nonpolar  (d) relatively heavy

7. ___ Cooling a substance slows down the molecules and makes most substances

(a) less dense  (b) more dense  (c) buoyant  (d) heavy

8. ___ If the density of liquid water at 4 degrees Celsius is 1 g/
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 what is the density

of ice at a colder 0 degrees Celsius?

(a) .92 g/
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  (b) 1 g/
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  (c) 2 g/
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  (d) 10 g/
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9. (True/False) Since ice forms at the top of lakes, it must be less dense than liquid water.

10.  (True/False) A salt crystal like NaCl is dissolved in water because the negative ions are pulled away by the water molecules and because the positive ions are also pulled away.
11.  (True/False) Water’s key chemical properties are due to the ‘hydrogen bonds’ it can form.
12.  (True/False) When water is cooled to 0 degrees Celsius and freezes, the hydrogen bonds form a six-sided pattern of water molecules which is less dense than the liquid form of water. So ice floats.
13.  (True/False) 80 proof means there is 40% alcohol to 60% water.
14.  ___ Which property makes a liquid insoluble in water?
(a) light molecular weight  (b) polarity  (c) nonpolarity (d) hydrogen bonding

15. ___ Which method would not be used to treat or clean water for reuse?

         (a) letting gravity settle out material  (b) introduction of bacteria  (c) filtering with sand and coal  (d) introduction of salt water
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